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Nom: Date: Note:

892,9 x 1002 = 100D =

7x 100 = 5% 1002 =
1073 = 3x 100 =
143,2 x 107 = 1002 =

1x 1000 = 100D =

107 = 147,2+ 1079 =
483,5+ 1007 = 100D =

1079 = 1002 =

654,7 % 1002 = 1004 =

1001 = 1003 =
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Exposants négatifs de 10

Nom:

892,9 x 1072 = 8.929
7% 107% = 0.0007
107% = 0.001

143,2 x 1072 = 0.1432
1x 107V =0.1

107% = 0.01

483,5+ 107 = 483500
107 = 0.001

654,7 x 1002 = 6.547

1000 = 0.1

Date: Note:

1077 =0.1

5% 1072 =0.05

3 x 107 = 0.0003
1072 = 0.01

107 = 0.1

147,2 + 107 = 147200
1077 = 0.1

107% = 0.01

10 = 0.0001

1072 = 0.001
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